Adding - Crossing the Whole

Adding - Crossing the Whole

1a. Use the hundredth squares to
complete the calculation below.

+

Use complements to 1 to help you.

VF

1b. Use the hundredth squares to
complete the calculation below.

Use complements to 1 to help you.

VF

2a. Use partitioning to find a complement
to 1 and the number line to solve the
calculation.
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2b. Use partitioning to find a complement
to 1 and the number line to solve the
calculation.

0.45 + 0.7
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3a. Complete the part whole model.

¢

VF

3b. Complete the part whole model.

VF

¢

4a. Complete the addition:

0.35 +0.67

VF

4b. Complete the addition:

0.56 +0.75

VF
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5a. Use the hundredth squares to
complete the calculation below.

Use complements to 1 to help you.

VF

5b. Use the hundredth squares to
complete the calculation below.

--|- -—

Use complements to 1 to help you.

VF

6a. Use partitioning to find a complement
to 1 and the number line to solve the
calculation.

0.625 + 0.575
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6b. Use partitioning to find a complement
to 1 and the number line to solve the
calculation.

0.375 + 0.925

0 01 02 03 TA 05 06 07 08 09 1 11 12 13 14 15

VF

7a. Complete the part whole model.

VF

7b. Complete the part whole model.

# H VF

8a. Complete the addition:

0.653 + 0.373

VF

8b. Complete the addition:

0.483 + 0.555

VF

© Classroom Secrets Limited 2018

CLASSROOM

classroomsecrets.co.uk

Varied Fluency - Adding - Crossing the Whole - Year 5 Expected




Adding - Crossing the Whole

Adding - Crossing the Whole

9a. Use the hundredth squares to
complete the calculation below.

Use complements to 1 to help you.

VF

9b. Use the hundredth squares to
complete the calculation below.

Use complements to 1 to help you.

VF

10a. Use partitioning to find a complement
to 1 and the number line to solve the
calculation.

0 ones, 52 hundredths and 5 thousandths
+

0.775
N

BB U UAE L s L

0 0102 03 04 05 06 07 08 09 1 11 12 13 14 15
VF

10b. Use partitioning to find a complement
to 1 and the number line to solve the
calculation.

0 ones, 4 tenths and 75 thousandths
+

0.825
AN
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VF

11a. Complete the bar model.

11b. Complete the bar model.

0 ones, 9 tenths and

0.923 75 thousandths

0 ones, 8 tenths and

37 thousandths 0.473

VF

VF

12a. Complete the addition:
0 ones, 7 tenths and 16 thousandths

+
0.497
°
+ °
°

VF

12b. Complete the addition:
0 ones, 38 hundredths and 6 thousandths

+
0.943
°
+ °
°

VF
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